Leicht



Rosenwalzer
GroBschénan und Langschlag, Waldwiertel

JEESSS=====%

C ¢ ¢ C ¢ ¢ £ B2 e i}

! Cece 2 Ceec Beec Bee Cee Cee Beec

. ||%FF = - e . Xl - “FF |

Bbb Ccc Bbb Abb Abb Bbb Bbb Abb Bbb

= ;f .......... ;JM ......... J |4 ......... F ...... |F ....... J|F .......... F|FEF ilF ) J I"|F ) J li
C Bbb Abb Abb BBA BABBEBBI! B :
(eSS e s e e e = SRS IS AR SRS
oE = J"“|" ﬂ'::::'fw| = j = ﬂ'::::::::::"f:“:| = J| J J\ J 'HEILE J |"| J } %ul

A aa Aaa Aaa Aaa Aaa Aaa Aal !l Aall
Spielfolge: EAI+1+THI+IIHITTHTI+HIIT




